$#32H FARERARRT=R) - iR

201779710

KRG JFERSVEFHKRER220ET=Ra—-+

BF RE~—F AR

1~AHRTEE
1. D—ILRRZEH—E R

2. MS&AD=H#fFKREBL
3. BEARBErR—

4. T=RA=/\—X

WTRAVT R (HE)

ERBE

(=)
(=)

(=)

ToMREY—ER == o kgimy—Ex

RIS

iMS&AD=FH{ERFLE

21

I'ﬁ$ﬂ@#ﬂ<—)b%‘4>7’ Z|

20741Y

(LR EH)

C BAREA—LTF YR
2047419

F_AR1=s N—R e 204741v
5~8{REH .
5-8 1R
s (SHIRER)
1. =B (1<aia,TJ||>—|_§§1§
3 *Eﬂﬁﬂﬁﬁ"ﬁﬁﬁ'ﬁ* (FHFA) E 27U
3. =BZTIUTIL (im)_|_§VT'J7)b 20s41y
4. JLRYUR (€ -] [Em—
e (7R EH)
AARMTHERR-FER ARG
LRI R — 20s61y
OFRM  1-2 @ #E ki 3-4
D—LEfEY—ER| 1 - 2 MS&AD=H#EXREL BERRI—ILT VTR 2 -0 FZRAZ/IN—R
s2| R &% 18 O & IH s2| B &K 55 R -
St Hi& K (O 81 =k = si| ®E kK& |O 86 ¥ BE
—&%AK B¥E gk Kih WE BN FIER HFEA
D mEg=1L 8 Ol ug mx |[P] @z xm |O 8 HE BA
@R 1~4 @3LIRE 1~4
MS&AD=#kilE| () — 2 |@Ex@®A—LT IR T—IVFZEY—ER 2-0 F=RA=/IN—R
S2 2 A8 58 O B EX s2| —#®K BE |O 84 mhR fE—
ST EE Eth 08 O ®mE kK& S1 B3 &K (O 84 P4R B
b IRk Kih Y mE BN p| BEF=TL 02 & #EF
INE BKR PN BRIl %% T4y tHE BA
@5-8i1R  1-2 @5-8fI1R 3-4
=HEH 2 — 1 |=mEmsRF-Hs =BEITUT7IL 2 -1 LR R
S2 mE E 38 O| ™A B—H Ss2 BE B& 38 Rk =
ST AfE B O 82 hiE H2 S1 ® BEA O 84 ERK 1%
R - A J\E m EE HE =2
Dl e [O 8 B % Dl sm s |©O 89 ey
@5 {RE @7 i RE
=EEH 0-2 |=mm<7U7.L REEHFRF-HL| O - 2 IWRHUR
S2 b NG 2 BE #& s2| mA BE— o ErXK 1%
ST wmE Hh— 08 H EE S1| &H BF 18 HE #£=£
b R - 38 ]| BRE b i Mz 28 i E
N £ BEA & E#t Fik B




5£32[E EREXERT =R -V BE &

2017/9./8~9

RIG BERSVEEFTAREE28ET=Xa—+

BFAJOvY
No F—L% ILRHFUR MS&AD=HERBLE | TUF R RAR—Y = hv 0 AR AR IESL
1 LRYUR (FE) ook 0 - 3 2 - 1 3 -0 2- 1| 5 2
2 [Ms&AD=##EREBLE (FEF) 3 -0 otk 3 -0 3 -0 3- 0/ 9 1
3 |JUFRFRE—Y  BEE) 1 - 2 0 - 3 Hokk 3 -0 1- 2| 4 3
4 |BIRERRT €359 0 -3 0 - 3 0 -3 Kook 0- 3/ 0 4
1-3 2-4 1-4
LEHUR | 2 = 1 |PvFzrezk—y| |vsesvzpummr| J - B 3L & 4ERT IARHYUR 0 | B8R
N 27 59 . 26 0ol . 26 29
s2| Rk B 6 1 A BEX B ¥ 6 1 EE BN Fik E 6 2 k% Kith
02 6, _|,6 0O 26 17,
s1| #k & 1 6 EK BRE Bk = 6 O F) K HE #=£ 6 0 F) K
AR 6,6 1 | E ma| [ miE K|, 6 2 | B K| | KK, 6 1 | Ik B2
Dl me &= |6 0 °| @ 2§ IMNE B 6 2 °| NIK Bz KH #t |6 1 EH RE
2-3 1-2 3-4
mserozstizmt| = () |[FuFRRLRE—Y JLRHUR 0 - vsaap=sigmt| |TuFRLLRK—Y 0 B 8ErR
] 26 2, 00 6 ] 26 0
s2| & HE 7 5 A BEX Pk B 3 6 2 RE ik EA 6 0 SH Rl
9 6@ 7] 02 6 76 3,
S| B Eth 6 1 EK LS Pk & 3 6 B Et A BEX 6 3 EE BN
6 0 RET
MEE K|, 6 0 of FEE EA| | AR B 6 2, mE K| | EK BB, 6 3 | ES Kb
D| & = 6 3 | HE Z2& HE #5 |' 3 6 “| IME BX wiE 2% |6 3 F)I #+
3 - 10
B¥BJOovy
No F—L%& FHAREE J—ILRIZEH —E R =ETH (ITE-T=Ye BB |ARA > IESL
1 [FERES (F%) sokok 0 - 3 1 - 2 2 - 1 1- 2| 3 3
2 |7—IFMZEY—ER  (RR) 3 -0 ook 3 -0 3 -0 3- 0| 9 1
3 |=%EMH a2 - 1 0 -3 ook 3 -0 [2- 1 5 |2
4 |ILBEFF (113 1 - 2 0 - 3 0 -3 *kok 0- 3| 1 4
1-3 2-4 1-4
HALER (1 - 2 = I-nkzy—Ex| 3 — IE=Ny HRAES | 2 1 EL e
00 6, 9 6 1 26 0
S2| s 0 6 Faf 2= BNl £ 6 2 R g ANl BH|“6 0 TEH &—
03 6, ] . [,6 0 _ 02 6,
Si|£@E #Hh | 4 6 b N BB #|A 6 0 KE = NE = 3 6 EE ME
T ORAKA |, 2 6 | HN CE| |-EK BFE,6 1| &5 R | |z Ex|,6 3 | kB ®
D& &% {50 2 i VN[ WMEA=T)|“ 6 0 EE & EH 6 0 AR g
- 6
2-3 1-2 3-4
s—ikmzy—£xl 3 = =T wEAREE | 0 - T—ILRZEY—E R =T 0 [T =Yey
56 2, 03 6 . 26 1
s2|—#&K B¥F “ 6 0 [GHE & EANl &% 2 6 “MWMEA=II A B 6 1 WE g
|26 0 04 6 N 26 1,
s1| BB &KX 6 1 BF - EH 0O 6 B3 A BF - 7 5 &% #
WES=IM, 7 5| i@ | | 2@ BA |, 2 6 ,|— %Kk B¥[ | =0 )6 0 ,| K% %
Dl mIl %k |6 3 A i RE IRV 2 6 °| BRI £k | |EFEAK|CE6 2 fEH #E—




32 BAREXREARRT =R —J B

P

2017.79/8~9

B BERSV-FTREE20BT=X0—F

BFxcooys
No F—L% BABER—LT(IR| Z=ZBITUTIL AEBEMARA-HE EXI7/)LL BER | RAabk | B
1 |BABRER—ILT(FR  (ER) Fopok 3 -0 3 - 0 3 - 0 3-0 9 1
2 |=<FU7L (ER) 0 - 3 ok 3 - 0 3 -0 2-1 6 2
3 |XEEMHER-BE B 0 - 3 0 - 3 *okk 2 - 1 1- 2 2 3
4 |EL7AIL () 0 - 3 0 - 3 1 - 2 sokok 0- 3/ 1 4
13 2-4 1-4
BARBER—LTAVTR 0 |[+xmumazm-ss| | ZE2<FU7L [ 3 = 0 ELXI7M4)LLA wwst—Lroszl 3 = () E+TI/)LL
s2| B K& 6 O BEX B oH EA 6 O B BN B &KX 6 O B OEA
2 6 0 0 2 6 1 0 2 6 0 0
st| BE k& 6 0 B3 @& mEE 6 0 ®iF £ WE W 6 O &E %
WE B 9 6 29 B K gk Mz 9 6 04| & BA F8 K& 9 6 0 | @& BA
D| #t =% 6 0 °| KA®R #n HE B& 6 2 A HE #E EH 6 0 AmE KSR
2-3 1-2 3-4
=ETTIT7IL 0 |xmswszm-uE| |Eragt—17oo2] 3 - Q0 | ZEIFUTIL AEEHHEF-BE] 2 9 —- 1 BT I74)LL
2 6 1 ol . N 2 6 2 1 2 4 6 1 .
s2| BEE B& 6 1 BER B B EX 6m7 ® BEA H¥ [E 6 2 *R &
6 2 6 3 RET
St £ BEA 6 1 BE EE wWE kK& 6 1 #BR HE B OKE 1 6 &iE &
mES 9 6 2 | R KH e MY |, 7 5, m EE BER B@ |, 6 2| HO &R
D| #m A 6 1 RKAR N FE KE 6 2 mHE EA KAR i 6 1 AR BN
RET
BF¥DJOvY
No F—L4A FZALIZIN—R HEHEE BERT AEBMHARAR-HA | B | Raob | B
1 |F==x2=/1—2 (3D Hohok 3 -0 3 -0 3 - 0 3-0/ 9 1
2 |EEtEE (ZIN) 0 - 3 Hokk 3 - 0 1 - 2 1-2| 4 3
3 |HBEERF (BE) 0 - 3 0 - 3 sofok 1 - 2 0- 3 1 4
4 | REEMHER AR (#HA) 0 - 3 2 - 1 2 - 1 sokk 2 — 1 4 2
1-3 2-4 1-4
FoRAZN—R 0 BERT E¥-2; P 1 = 2 |xEgm#HRm-mx| |[72R21=/—X| 8§ = ( |+EE6HEF-HA
- 56 0, ~ 0L 6, - 56 1,
s2| HERE @#— 6 1 &H# EH HHE iR 2 6 mA BE—8 R - 6 1 LA B
2 6 1 0 2 6 1 0 2 6 2 0
st| t& BF 6 0 &ET £ FiE K& 6 3 &H BEE R BE 6 2 iE M2z
FIER BEA 9 6 0| ®FH Bz WA BE |, 6 2 2 Hi = PER B 26 1 Bft &=
D| k& BA 6 0 iR EA 5H & 1 6 A J\E2 ttE BA 6 (A J\EE
4 -10
2-3 1-2 3-4
HZHEE 0 BEET T=2a=1"—X| 3 - 0 REHEE BERT 1 = 2 | E&HHRR-HA
2 6 1 0 _ 2 6 0 0 _ 2 6 3 0
s2| #HE f#E 6 2 INE BB R E— 6 1 HE #E &H (58 6 4 L& B
RET
" 26 1y 26 Ol . 00 6,
S| Bk K& 6 2 RET £ ¥ BF 6 O Rk 155 RIE EA 0 6 mA B—
R H5E 9 6 3o FE - tkE BHA 76 3, @K gE RET E4Y 0l 6, A J\E
D AH & 6 0 &H# 59 It & 6 0 AH & INE BRSR 4 6 B =




	男子決勝
	男子Ａ・Ｂ 
	男子Ｃ・Ｄ

